ooy

1 0000000 0o0o0oOo20110 40 1300

1.1 DOoOooo

00 1.1. ¢~ 00 f:(a,b) =R, z— f(z), 0000000000000

00 1.2. U0 R2O000O000O0O0C™®00
F:U—=R? (z,y) — (f(z,y),9(z,9)),
0O00O0O00000000000

00 1.3. U0 R*"O0O00O0OOOC™®0O0O

f:U—=R" (x1,...,25) — (fi(z1,-  Tn)y ooy frlT1, ...

goboboooobobboooon

12 ODOOODOO

00 1.4. UD R200000000C>®0O0
[:U—=R, (z,9) — f(z,y),
00000000000 ooon

OO0 15. U0 R"O00CDOOOOC™DO0O

f:U—=RP (21,...,2n) = (fi(z1,...,20n), ..., o2, ...

0000 n>p)000000000000O0O0OOO

13 0000000000

UODR'O00000r>1000C"00 f=(f,....f,):U—RPOODOOLDO
0000000000000000 xeU 00 f0000000O00O

d 9
gi(z) o ()

Ji(x) = : : , = (r1,...,2,) €U.

o . o '
(@) o P(a)




00 1.6. C*00 f:R?—-RO0000000O0D000MOOO0O0ODOOOOOO
gooo

00 1.7. C*00 f:R"—>RP (n>p) 0000000000000 0000000
00000000

00 1.8. C*00 f:R—R?000000000000000O

00 1.9. C*00 f:R*"—=RP (n<p)000000D00DO0ODOOOOO

fO0D0 200000000 <= ranka(x)
fO00200000000 <= rankJg(z)

n
p
00 1.10. U O R"O0O0OOO0OO0OOOOf :U — RPO f(O)=000000
00 e U0DD0000000DO0ONn <pOO0O0OOf(0)=0000000000

(1, »yp) — ®(y1,...,y,) 0000002z 00000000000000000
00 ®of(z1,...,2,) = (1,...,2n,0,...,0)

00 1.11. YO R"000000000f:U—-RPO f(0)=00000000€U O
00000000k >p0000f(z) 000000000 (21,...,2) — ®(21,...,20)
000000z 0000000000000000000 fo®(x1,...,2,) = (z1,...,2p)

00 1.12. 000O0O0ooOOooooboobobooboon

L f:R?> =R, (z,y) — 2> —y?
2. f:R?> =R, (z,y) — 23 +y> — 3y
Y

3. [ R =R, (1,y,2) — 2% +y? — 22

3. (a:,y):(0,0),(%,%),DDDD (),—QL7
OO0 1.13. 000000000000D00OD fO00O0OODDOO

L f:R*—=R? (z,y) = (2° + 2y,9)
2. f:R? = R?, (2,9) = (2% — y*, 22y)
3. fi : R? — R2, (z,y) — (2% — y? + 2tz, 22y — 2ty)

000000 X¥00000 fly00D000000O0ODOODOOOOOOO



2 00 (20110 40 200)
21 OJ0O0O0OO0OOODOOODOOOO

Oo0O000O0O00 R*"O0000 XOOoOooooooooooooobooo RO
croogoooogoooog
000X UO0OO 200002z O R"OOD0OOOOOUO R"OOODOODO V,00
0z 000000000 CrO0000 h:U—VODODODODODOOOOOO

kODODOOO0O0OD XO0O xzo00OO0O0O0DOOO CdeOX:kDDDD

00 2.1. 00 f:R3 =R, (z,9,2)—2?+9*+22,000000000000000
r000 f~Y(r)0 RPODDOOD0OOOOOOOOOOO

20000 S2000ooon

§*={(z,y,2) e R? [ 2® + " + 2% = 1}

22 0O0O0OO

00 2.2. $2000 POOOOO N=(0,0,1)000000000 NPOOOO 2=0
0000 QOUOOO (u,0,0)0000P£NO00 Q0000000 P—Q OO0
NOODODOOOOOOOOOO

1. z,y,2 0 w,v OO OO QOO0
2. u,v0 z,y,z2 0000000

00 (u,v) — (z,9,2) 0 REOOR* 0000 ¢, 0000000
¢y :R* - R?
3.00 ¢, 00000000D0D0OO00DODO0

4. 00 o4 00O S?200000000000000000 py 0010000 ds?
goooodg

00 2.3. 52000 POO0OOOS=(0,0,—1)000000000 SPOO0O 2=0
0000 Q 0000 (v,¢,0)0000P#£S000 Q0000000 P— Q' O
00 S0000000000000



1. z,y,z 0 ;7' 0000000
2. v, 0 z,y,z0000000

00 (u,v) v (z,y,2) 0 RROODR} 0000 ¢ 0000000
¢o_ :R*? > R?
3.0000 - 00 100004ds?000000
4. w0 0 w,v 000000000 o top, 000000000000 00MMO0N
0D000000O0Doo0

5. 0000 CO200000000D0000DO0 z,wOODODODOOO w:%D C
000000000S?0000000000

23 0O0O0OO

00 24. $2000 POOOOOO 2=1000 QOO0O0 (w,v,1)000000
0OQO0 S?20000 POOOOOD P—QOO00000OO0O

1. z,y,20 wy,v0 OOOOODOO
2. u,vm1 0 z,y,z 0000000

00 (ug,v1)— (z,9,2) 0 RROODR* 0000 ¢0000000
¢:R?>— R’

3. 00 o00D0O00ODOODODOODOODODO
4. 0000 ¢00 10000ds?2000000



3 OJOoooood (2011DDD 27D)
3.1 SP0ooo0ooooon

00 3.1. 00000 S?2000000000
f:58* >R, (r,y,2) — 2

1. fopy :RZ->RO0O0000O000OOO0O0OO
2. 00000000 fop,:R2—-ROO000000000C0

00 3.2. 00000 $2000000000
f:S*=R*  (z,y,2) > (z,9)

fee+:R? - R?00000000000 fO00D0D0OO0OO

3.2 nO0O0O0O
00 3.3. 00000 20000 S"00000
S™ ={(zo,x1,..., ) € R [ m® + 2%+ 1,7 = 1}

1. S"0 R 00000000000 0000
2.5 00000 N =(1,0,...,0)00000 §=(-1,0,...,0)0000000
00000000O0¢, 000000

00 34. S"0000000C0ODOOO

f:8" =R, (X0, X1y, Tn) — Xo

1. fopor :R" >R O0OOOOOOOO
2.00000000 fepy:R" >R OODODODOOOOODODOO
3. 30:10904_DDDDDDDDDDDDDDEDDDDDDDDDDDDDD

3.3 0000
T2 =8'xSlo20000000000

OO0 3.5. 000000DOn

¢:R?* — R?, (u,v) — ((2+ cosu)sinv, (24 cosu)cosv,sinu)
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.pO0000D0000
.o 000000000D000D0O000O0
. 00000000090 A=[-%,320000 A=[0,2n)% -7, 72?000
0000000000000000000d

.p001000000000

.p002000000000

6. 0000000000000

w N
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O

[SA RN

34 00000000
00 3.6. 00 000 XO00OO0OO00O0O f:X—R, (z,y,2)—2, 00000

1. fop|, 0000D000000O00000D0

2. 00000000000000000000000

3.t00000000 Xn{(z,y,2)|z<¢}000000(¢ 0000000000
0oooo)

00 3.7.00 o000 XOODOO

1. X = {(z,y,2) €R? | g(z,y,2) =0} OO0 ¢g00000

goo

35 DOoooooooooo

00 3.8. 00 o000 XOODOO¢tODOODOOODOODODODO XOOooooooo

ft:X_>R27 (m,y,z)—>(x,ty—|—z)

1. focp:R? - R?200000000000 fpb0000D0O000DO

2.t#00000 fiece 000000 XO000000 g(u,v)=000000

3.t=1/3,2/30000 fiop(X) 000000 fropls 000000000 f(X) 0
oooooooooo



4 0000 (2011050 110)
41 OO0OOOO

R"O0000O UOOOO f:U—-RO0OPO0ODO (ODOD)0DO00OO0DOOOOO

O %(P):O(izl,...,n)DDDDfD POOODOOODODO fODOD PODO

goood

72(P) grgm(P) - g (P)
L) SL(P) 0 (p)

0220z 0z ot Dwsdan

H(t,P) = . . . .
8manafml (P) Bxigfcz (P) ... 8(1502 (P)

0000000000000 00000U0DUO0O0OH(f,P)000O0ODO0ODODOO
000000 POODOODOO

42 0000

KOOODOROOODOODOO COOOOK™! 000000000 (20,21, ... ,2n),
(Yo,Y1,---,yn) 000000000 (xo,x1,---,2n) ~ (Yo,Y1,---,yn) 000000 K

oo ¢toboaoo
a:i:tyi, i:O,l,..,n

0000000000D000000000000 (z0,21,...,2,) 00000 [z : 27 :
..:2,) 00000000 PYK)OOOOOODO

P"(K) = (K""\0)/ ~

P*R)D000O0O0OOPYC)00DU00DODODODOOOODODOODODOODOOO
000 [zp:21:..:2, 0000000000000 0000OOO, homogeneous
coordinate0 O 0 OO0 OOOODOO K”+1\ODDDDDDDDDDD
rp#00000000 PYK)OOUO U, 00000000O0DO0O0OO 200000
[1:@1/20:...:2n/20) 0000000000000, 00000000 K*"OOOO
0000000000 z,#0000000 U, 0000000000000 0O0DOOODO
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00 4.1. ¢, D0D0D0OO00OOUUy,..., U, 0 PM(K)OOODDOODOOOOOODO

00 4.2. ¢ 0¢i(as,...,a,) O a1,...,a, 000N =1,23000000000



000 yU; 0 PM(K)OOOOODOOOOOOO
00 4.3. PY(C)~ 8?0000
OO0 44. nOO0ODO
S" = {(x0,21,...,2,) ER"™ |22 + 2% 4+ -+ 2,2 =1}
goboboooobobogod
p:S" — P"(R), (zo,T1,...,Tp)— [To: X1 " Ty
pUdQ0nnooooooO
00 4.5. (2n+1)0000
S ={(20, 21, 20) € C"FH [ |20+ a]? + -+ [z = 1}
goboboooobobooo
p:S*TL 5 PY(C), (20,215 20) = (20121 1t 2]
pUdQ0ODOOOOOOO
00 p:S3—PYC)=5?200000000000000000
00 4.6 (Veronese 00). OO
g:R* = RS (zg,21,22) — (z0°, 021, Toxo, 117, T122, 227)
0 S?00000000000 PAR)0D0OODOOOOOO

OO0 4.7. 0<cp<cp<cUOO0OO0OODOOOOODO

cox02+clx12+62x22
x02 + 212 4 52

1. 00000000 PAR)DODDOOOOOOOOOO

2. fo; (1=10,1,2)0000000000000000000O0O fe¢; UDDDODO
OO0oOoDooon

f:P*(R) =R, [zg: 2 : 23] —

00 48. 0<cp<c<c0O0OO000DOO0O0OO0DOOO
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00 5.1. 00000 S'x[0,1]00000

l. 00oboobooooooboobooooboboboobooboboboooobobooboo

goboboooobbbooobbbooooo

2.000000O00b000 10bobo0oboobUoboboboobUobooobooo

gooboooobooboooooo

goboboooobbdoooobbuoooobboooobbboooboo

K=ROOO COOOO
M = {(z,y) x [£ : n] € K? x PY(K) | 2n = y&}

000000000 K2xPYK)—-K?0O MDODOOO
M — K2, (2,y) x [€:0] = (2,)

000000000 K?000000000000000
OO0 5.2. 00000

1. 7-1(0) = {0} x P(K).

2. T|apna-10): M —771(0) - K> —{0} 00000
3. K=ROO0O MOOOOOOOOOOO
MOOOo U,V O

U={(z,y) x [£:n] € M |§#0}
V ={(z,y) x [£:n] € M | n#0}

OO0D000 o, 0000000

p:U— K2, (z,y) x [€: n] —(u,v)
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6V~ K (@) x €2 n = (0 ) = (£.0)

oo 5.3. 1. p,p 00000OC0OODOOOODOOODOOOO
2. (W) 0 (u,v) 0000
3. 00 (u,v) — (v/,0") 0000

¢op™ tR* N (V) — R*N (),

0o0O0oooooo
4. Top~! mo¢~! 00 OODOOOODOOOOOOO

FE=771(0)000000000000000000000O0OOOO0

OO0 64. K=ROOOOOOODO o, 000000

tén tn?
§2+n2’£2+n2
1. 00000 . 0000000000000 DO0O0O0DOO
2. Imy, (t#0)0 E0DODODOO

e PAR) =M, [ein] — ( ) xlg:n)

OO0 5.5. K=COOOOOOOO 00000

t&n tlnl?
€12+ 027 €% + |n|?

pri PHC) = M, [g:m] = ( ) xlg:n]

2. Img, (t#£0)0 E0OODOOOO
3*. 0000000000ED PYC)) (t#0)0 M OOO0O00D0000000O

OO s.6. t00000O0OO0O0O

¢ : R x S' — R* x P(R)
(r,0) — (rcos@ + tcos260,rsinf — tsin260) x [cosf : sin b

OOoMDOODO M, 00O00OMy=MDOOODO
My = {(z,y) x [cosf : sinf] € R* x P'(R) | zsinf — ycosf = tsin36}

1. Im¢, = M, 0000

2. 00 f: M; —R2 (z,y) X [cosf :sinf] — 2, 000000000000000
000000000 feep, DODDDODOODO)

3. m : My — R2, (z,y) x [cosf :sinf] — (z,y), 000000000000000
0000000000 meg, DOO0UDD XUOOD0DODUODO0OO0ODOOmo0s
0ooooon)
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6 0OOO (1) (2011050 250)

6.1 ODO0OOO0O

0 KOOOOOOOOxpOOOOO M(nxp, K)DOOOODOOOO M(nxp,R) =

R™ 0000
GL(n,K) ={A € M(n xn,K) | det A # 0} 00000
SL(n,K)={Ae M(nxn,K)|detA=1} oooog
O(n) ={A e M(nxn,R)|"AA =1} ooo
SO(n) ={Ae M(nxn,R)|"AA=1,, det A =1} 0oooo
O(p,q) ={A e M(nxn,R) |'Al, ;A =1I,,} 0ooooo
SO(p,q) ={A € M(nxn,R)|'Al,,A=1,,, detA=1} 00000000
U(n) ={A € M(nxn,C)|"AA =1I,} oooooo
SU(n) ={A € M(nxn,C)|"AA=1,, det A =1} Doooooog

I, 0ooooooorl,,00000000000000

p q
. —— ——
Ip,q:dlag(l,...’l,—l’,_1>' DDD p+an
000 diag(e,...,c,) 000000 ¢y, ...,¢, 000000000

OO0 e6.1. DOODOUO0ODLODOODODODOODDOOODOODO

62 DO0OOO0O0O

Mnxn K)OO KOO 2200000000000 0000000000000

(X,Y) = trace XY = Zz.f_ijyij, X =(zi5), Y = (yis)
i=1 j=1
000 |X||Doo0oooo000
1
2
1X1 = (X, X)/? = (ZZW )
=1 j5=1

00 e6.2. DOUODOOODLOODLOODLOODOODO

o [[aX| = lall X]], a € K.
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o [X+Y[<[X]|+I[Y]
o [XY <[X[Y]

00 XeM(nxnK)OOO expX 0000000

1 1 1

00 6.3. 0000 {4,000 S, =1 o AcX® s =D, A]lIX|* DODO
{s,} 000000 {S,} 000000

goboboooooobooobobooogoo

expO,, = I,

XY =YX0O0O0O exp(X+Y) = (expX)(expY)

exp(—X) = (exp X)

exp(X) = H(exp X), exp('X) = (exp X)

A€eGL(n,R) 000 exp(AXA™!) = A(exp X)A™!

det(exp X) = exp(trace X)

4 exptX = X(exptX) = (exptX)X

00 X,YOODOO[X,Y]O [X,Y]=XY-YXO00O0OOO0OOOOOOOOO

® N S vk W=

t2
exptX exptY =exp(t(X +Y) + E[X’ Y]+ O(t%))

9. xp U00000O0ODO0ODODDOODOODODODOODOODOODOD

u={XeMmnxnR)||[expX —1I,| <1},
U={AeMnxnR)||A-1I,| <1}

0000000 exp:u—U, X —expX, 100000000

00 6.4. 0029000000
000 8.0 (exptX)(exptY) =exp Z(t), Z(t) = Yooy £ 2, 0000 Z, 0000
000000
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7 0OOO (2)(20110 60 80)
71 GOg

0000000000 GOOOO GOOO g=Lie(G)00DO00OO0OODO
g=Lie(G) ={X e M(nxn,K) |exp(tX) € GVt e K}

D000G=GL(n,R) 000 g=Lie(G) 0 gl(n,R) 0000000000000

gl(n,R) =M (n x n,R)
sl(n,R) ={X € M(n xn,R) | trace X =0}
o(n) ={X e MmnxnR)|X+'X=0,}
so(n) ={X € M(nxn,R)| X +'X =0,, traceX =0}
o(p,q) ={X e M(nxn,R) | I, , X +'XI,,=0,}
s0(p,q) ={X € M(n x n,R) | I, ;X +'X1I, , = O,, trace X = 0}
u(n) ={X e MmnxnC)| X+X=0,}
su(n) ={X € M(n xn,C) | X +X = O,, trace X =0}

Ooo00d o, 00000000

e exp(trace X) = det(exp X) 0O det(exp X) =1 <= trace X =0
e X co(pq) 000 I,,="Yexp(tX)),,exp(tX) OODODODOOOO0O0O00O0O

O, = ((exp(tX)X)I, , exp(tX) + (exp(t X)), X exp(tX)
000000¢t=0000000, =XI,,+1,,X0000
e s0(n) =o(n), so(p,q) =o(p,q) 10OODOOD
Oo0000000D0oOO0 GOoOoO0 [,000000 gO0OoOoOoOoOoOO
d
g— 11 G, XH%exp(tX)\tzo

AeGOO0O0O000O00

Ly:G— G, B— AB, Ry:G— G, B— BA
000000000 Ly, Ry—-00000000D00D0O00O00O00O0DODOOODOO0O

d
dLa:9=T1,G - TaG,  dLa(X)= - (Aexp(tX))|e=o = AX

d
E(exp(tX)A)]tzo = XA

0000 Ag=dLa(g) ~TaG ~dRa(g) =gA 000000000

dRAig:TInG_)TAGv dRA(X):
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72 OOO0O0OO0O
00 7.1. 00000

1. AcO(n) 000000 R" - R", z+— Az, 000000000 (z,y) ="zy O
gooood

2. A€ O(p,q) 000000 R" -R", z+— Az, 000000000 (z,y) =
21,y 0000000

00 72, 1.0O(®n 0O MhaxnR) =R” 020 o0po00000000o
00 (n=300000000
2. 0O(n) 00000D00000000000000 SO(n) 0000000000
00SO() D0000000000000000000

nxnUOO0 AODODOOOOOO a,...,a, 0000 A=(ay ...a,) 00000
OO0 7.3. 00000

.00 f:502)—SY A=(a1a2)—a;, 0000000000000O0
2.00 f:80(n)—8S"1 A=(a; ... ay)—a;, 0000000 SO(n—1) 0
000000000000

73 ODoboooooon

00 7.4. AcU(n) 000000 C*" - C", z+— Az, 00000000 (z,y) = Ty
00000000000

gooboodooobuoooobobooooboboooobbbooooboobooon

e U(n)O M(nxn,C)=C" =R 0 200000000000
e SU(M)O M(nxn,C)=C" =R 0n2-100000000000

00 7.5. 1.C?0030000 83={(z,w)eC?||z +|w?=1}000000
0 f:SU(2) — S A= (a1,a0) — e, 00000000000000O000O0
000000 m

2.00 SU(n) — S?*" Y A=(ay ... ay)—a, 0000000 SU(n-1)00
000000000000
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8 0OOO (3)(20110 60 150)
8.1 SU(2)0DODOO

OO0 81. DOOO0DO0OO0OOO

|2]2 — |w|? 2Im(zw) —2Re(zw)
p: 8% — SO(3), (z,w) — (2Im(zw) Re(22 + w?) Im(22+w2))
2Re(zw) —1Im(2%2 —w?) Re(2? —w?)
1. 00 pO0O000DOO0OO0ODOODODOODOODODO
2. (z,w)0 (1,0000000 000000 p(z,w) 0 C200 Rez=00000 3
gogobobooooon (\/—_lImz,w)DDDDD 20000000000000
Op020 100000000 00000w=00000 w#000000000
0o
3.00 pO0D0OO0 5: PP(R) — SO3) 000000000 0O0ODOO0ODN
aoo

00 p0O SU2)DOO0OO
SU(2) — SO(3), X — (A XAX) A € s5u(2)

gooboooooooo

82 SO(n)0DOO

00 8.2. C =diag(ci,...,cn) (0<e¢ <---<¢,) 000000 SO(R)00OODOO

oo
f:50(n) - R, X — trace(CX)

1. fOO0D0O0O0OO0OOOO0OO
2.n=2,3,40000000000000000O

O00: 00000000000 A€ SO(n), X eso(n) DOODDOODOOOOOOO
gooood

t— f(La(exp(tX)))
t— f(Ra(exp(tX)))
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(p,q) 000 100000000000 E,,000X,,=~FEyq—FE,p (p<q)O so(n)
0000000000000000000

Epgy qa=p

Ep,qu’,q’ = {O p# q

00000000000 2000 H(X) = 4(f(La(exptX))=o 000000000
000 X
B(X,)Y) = (H(X+Y) - H(X) - H(Y))

goooooaon

8.3 U(n), SU(n) 000D
C = diag(cy,...,¢,) 0000000000 U(pn)0ODODODO

f:U(n) — R, X — Retrace(CX)

O0000oooooog Su(n)0OODO

f:8U(n) — R, X — Retrace(CX)

goboboodoboobooooboooobobobuoooonooo
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9 00000000 (2011060 220)
91 O0OO0OO0OOOODOOO

n000000000 RPOKDODOODOODOOODODOODOOOODODOOODODOOO
0 G(k,n) 0000 Gr(k,n), G(k,R")) DOOOR" 00 a1, ,a, 0000000
00000000 ({ay ... a;) 0000
00 Gr(l,n+1)=P*(R) 00001 = (i1,d2,...,0) (1 <i3 <+ <ip <n)0O
0o
Ur={({a1 ... ak) | api, = 0p,q}

00000U;00 G(k,n) 0000

00 9.1. G(2,4) 0000

1 0 1 0 C11 €21

_ 0 1 _ b12 b22 . Ci2 C22
U(L?) - a1z 93 ) U(1,3) = 0 1 ] U(374) - 1 0
(14 Q24 bis Doy 0 1

0000 (a1, a4, a2, az4), (b12,b14,b22,b24), (c11,c12,¢21,020) 00000000000
Ododoooooogooogon

WeGkn) 0ODODDODDOODOOO ay,...,a, 0000A = (ay,...,a,) 0000
‘AA=1,0000WO0O0O000000000 P=A'AD00O0O

00 9.2. 00 o0000000
¢:G(k,n) — MnxnR), W P=AA

1.0000000000000000000000000O0O0
2. P2=PO000OrankP=k 0000
3. W=Im{R"—R", v— Py} 0000P0O WODODOOOODDOOODODOO

92 O0OOOOODOOODOODOOOO
00 9.3. G(k,n)~Gn—k,n) 0000

A= (AAY) e SOMm) (A= (a1 ... ag), A* = (apy1 ... an), a; € R?) 0O O
PeSOk), Qe SOn—k)0000O0DO0D0ODOOOO

A-(P,Q) = (AP AQ)
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(A) = (AP), (At =(AtQ)DOOoo0DO
p:S0(n) — G(k,n), A= (AAY) — (A),

googd
p:50(n)/SO(k) x SO(n — k) — G(k,n)

0000000 WeGk,n) DODODOWOODODOOOODOOOOOD ADOOOOO
R"000000000000000 ADDDOOOD $§000000000
00000 p:SO(n) — G(k,n) 0000000 D0D0OO0OO

0 — Ty, SO(k) x T, _, SO(n — k)= T1,,SO(n) —> Tp; G (k,n) — 0

so(k) @ so(n — k) s0(n)

000 Tyi,)G(k,n) = so(n)/so(k) Dso(n —k) OOO0O0X,, (1 <p<k<qg<n)
000000000000 00000000000000000D0 L; 000 Ry
DAeSO(nooOooo

T 2 Glkyn) ~ ; Aso(n) - so(n)A ]
(so(k) @ so(n—k)) (so(k)®so(n—k))A

gooo

03 OJ000OODDOOOODOO

00 9.4. C =diag(cr,...,cn) (0<c<---<¢,) D0 R"OD0D0DD0 WOOOODO
00 ay,...,ax 000 A=(a1,...,ax) 000000000000000OO

f:G(k,n) =R, W =(A) s trace(CA'A)

1. G(2,4) 000000000000 DO0ODOOO
2. G(2,4) 0000000000000 UOOUOO0OODOOOOOO

O000: Xeso(n) 0OODODOODDOOOOOO fODOODODOOO

b Li(exp(tX)) = Aexp(tX) = (A(t) A*(1), A(t) = Aexp(tX)K, K = (gf)
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